Tone Change Rule for Consecutive Third Tones
When a 3rd tone (such as “yě”) is followed by another 3rd tone in a group, the first 3rd tone changes to a 2nd tone (such as “yé”).
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Examples

Remember, normally you do not write the tone change. We're just doing it here to make it extra clear.

Here are examples of individual words composed of two third tones:
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English

may, can
a little (too); somewhat
idea, thinking
so, therefore

boss
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Multiple Consecutive Third Tones

The smart students always ask, "OK, so what happens when there are a bunch of 3rd tones in a row?" This
is an excellent question!

In theory, all third tones would become second tone except for the very last one. In practice, such a "string"
of third tones doesn't usually go beyond three in a row. This is because in natural speech multiple third
tones in a row will usually broken up by pauses. In this case, the last word/character in each "group" will be
pronounced as a third tone.

So, in theory, it would go like this:
¢ 3-3-3-3-3-3 = 2-2-2-2-2-3
In practice, it usually goes something like this:

® 3-3-3-3-3-3 -+ 2-2-3,2-2-3




